Show work and explain your reasoning clearly. 5

7. {11 points) Over a jump site (a level field) on a particular day, pu'nl:huti.lhlhfnmrl.h:t
the temperature T = f(h) in degrees Celsius is given (approximately) as & function of the
height A in meters above the ground. loterpret the following in practical terms, giving
units.

(a) f(1000) = 24
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(c) £(2000) = -.0044
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8. (4 points) Circle the answer that best describes the conditions on the first and second
derivatives of the function P, where P(t) is the price of gasoline at time t and the price is:

(a) rising “faster and faster”

( EFﬂ}ﬂuﬂF"[ﬂ:E (#) P(t) >0 and P*(t) <Oy

(i) P'(t) <0 and P"(t) > 0; (iv) P(t) <0and P"(t) <O;

(b) “close to bottoming out”
(8} F(¢) > 0 and P'(t) > 0; (i) F/(t) >0 and P'(t) <D,

@ < 0 and P‘*{t]_:;\ (iv) P'(t) <0 and P*(¢) < 0;
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